
Subject: Re: Aurum Cantus G2Si
Posted by dB on Sat, 31 Mar 2007 00:27:41 GMT
View Forum Message <> Reply to Message

A second order 8KHz xover (w/110+ phase on the driver).C = 1.5uF (series)L = 0.47mH
(paral.)LPad (without it, it will be to loud)R1= 1.5 Ohms (series) NIR2= 20 Ohms (shunt) NIor a
little less damping (about +1dB)R1= 1.0/0.6/ Ohms NIR2= 20 Ohms NINote: This is assuming that
the driver output is linear and sensitivity is the same between speaker drivers.This is not final.
Wayne?Good luck! 
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